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1. (4 points) Do ionization energies have a positive or negative value?  Explain
2. (4 points) Write the electron configuration of the atom in the third row of the periodic table that has the largest difference between the third and fourth ionization energies.

3. (4 points) Cesium has the smallest ionization energy of all the elements (376 kJ/mol), and chlorine has the most negative electron affinity (-349 kJ/mol).  Will a cesium atom donate an electron to a chlorine atom to form isolated Cs+ and Cl- ions?  Explain your logic.

4. (8 points) Calculate a lattice energy for CaCl2 (in kJ/mol) using the following information

Electron Affinity Cl = -348.6 kJ/mol

1st  Ionization Energy  Ca = +589.8 kJ/mol

2nd IonizationEnergy Ca = + 1145 kJ/mol

Energy of sublimation Ca = + 178.2 kJ/mol

Dissociation Energy Cl2 = +243 kJ/mol

Net energy change for the formation of CaCl2 from its elements = -799.2 kJ/mol
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1. (4 points) Do ionization energies have a positive or negative value?  Explain

2. (4 points) Write the electron configuration of the atom in the third row of the periodic table that has the largest difference between the fourth and fifth ionization energies.

3. (4 points) Cesium has the smallest ionization energy of all the elements (376 kJ/mol), and chlorine has the most negative electron affinity (-349 kJ/mol).  Will a cesium atom donate an electron to a chlorine atom to form isolated Cs+ and Cl- ions?  Explain your logic.

4. (8 points) Calculate a lattice energy for CaH2 (in kJ/mol) using the following information

Electron Affinity H = -72.8 kJ/mol

1st  Ionization Energy  Ca = +589.8 kJ/mol

2nd IonizationEnergy Ca = + 1145 kJ/mol

Energy of sublimation Ca = + 178.2 kJ/mol

Dissociation Energy H2 = +435.9 kJ/mol

Net energy change for the formation of CaH2 from its elements = -186.2 kJ/mol

